Best model for HELP J142859.878+352314.817 at z = 1.236 x?=0.43

OPTx?=0.46 IRx?=0.48 threshold (OPT IR)=17.89 [um]

2 ]
10 Stellar attenuated
1 T R S Stellar unattenuated
1 _' —— Dust emission
10 Q] —— AGN emission
] = Model spectrum
0 _' ® Model fluxes
10 3 M oObserved fluxes
21071 - .
E ST,
£ ] Y
x 1072 ¥ v
=
w ]
1073 E
1074 4
3073 5
= ] ==f=(Obs-Mod)/Obs
3 ]
S ]
s ]
VR [ b 3R e o e et 4§ EEL LR L LB L EE e R T
o ]
g ]
5 ]
f_U—l T T T T L R LR | T
C
& 10° 10! 102 103 104 10 at

Observed wavelength [um]



